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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

Which one of the following states has the highest Human Development Index (HDI)?
(a) Kerala (b) Punjab (c) Uttar Pradesh (d) West Bengal

Development of a country is generally determined on the basis of :
(a) its per capita income.

(b) its average literacy rate.

(c) health status of its people.

(d) None of the above.

Which of the following agencies estimates the Gross Domestic Products (GDP) in India?
(a) All the state governments.

(b) An autonomous body.

() A ministry of the Union Government.

(d) None of the above.

Which one of the following countries has the largest size of illiterate population in the
world ?

(a) India (b) Japan (c) France (d) Germany

Which one of the following crops was not known to our ancestors until about five
centuries ago ?

(a) Potato (b) Rice (c) Wheat (d) Cotton
OR

Where was the first cotton mill established in India in 1854 ?

(a) Calcutta (b) Bombay () Surat (d) Ahemadabad.
OR

When was the very first section of the underground railway in world opened ?

(a) 10 Jan 1860 (b) 10 Jan 1861 (c) 10 Jan 1862 (d) 10 Jan 1863

Why did the wheat price in India fall down by 50 per cent between 1928 and 1934 ?
(a) Due to less production.
b) Due to floods.

(
() Due to Great Depression.
(d) Due to droughts.
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In 1911, 67 percent of the large industries were located in which one of the following
places in India.
(a) Bengal and Bombay.
(b) Surat and Ahemadabad.
(c) Delhi and Bombay.
(d) Patna and Lucknow.
OR
Which one of the following statements is appropriate for ‘chawls’?
(a) Chawls were multistoreyed structures.
(b) Chawls were single story structures
() Chawls were the well facilitated comfortable structures.
(d) None of the above.

Who among the following brought hand - printing technology into Japan around
768-770 AD?
(a) Buddhist missionaries.
(b) Japanese Traders.
(c) European Traders.
(d) None of the above.
OR
Which of the following countries was the first where novel took firm root ?
(a) England and France. .
b) Germany and Japan.

(
(c) US.A and Russia.
(d) India and China.

Name the first book printed by Gutenberg.
(a) Penny chap books
(b) Bible
() Ramayan
(d) All the above.
OR
Who among the following published the “Tom Jones” in six volumes ?
(a) Richardson
(b) Charls Dikens
(c) Henri Felding
(d) None of the above.

In which year did Sri Lanka emerge as an independent country?
(a) 1947 (b) 1948 (c) 1949 (d) 1950

Which of the following ethnic groups in Belgium has the largest population ?
(a) Walloon (b) Flemish (c) German (d) None of the above
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Which one of the following countries has the federal form of government ?
(a) Egypt (b) Sri Lanka (c) Australia (d) England

Gender division usually means :

(a) biological difference between men and women.

(b) unequal roles assigned by the society to men and women.
(c) unequal child sex - ratio .
(

d) absence of voting rights for women.

There is enough for everybody’s need and not for any body’s greed,” who among the
following has given the above statement ?

(a) Vinoba Bhave

(b) Mahatma Gandhi

(c) JawaharLal Nehru
(d) Atal Bihari Vajpayee.

Which one of the following Tiger Reserves is seriously threatened by dolomite mining
activity in West Bengal

(a) Manas
b) Buxa

(
(c) Sunderban
(d) Corbett.

What is the contribution of hydroelectricity in the total generation of electricity ?
(@) 52%

(b) 42%
() 32%
(d) 22%

Which country is the largest producer of oil seeds in the world ?
(a) China

(b) India

(c) USA

(d) Pakistan
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PART - II
How did print help to spread new ideas that led to the Reformation in Europe ?
OR

Explain the role of novelists in the field of social reforms in India with the help of any
three examples. 3x1=3

Describe the development of printing press after Gutenberg.
OR
Explain briefly the history of Hindi Novel from starting to excellence.

How did print come to Europe from China? Explain
OR
Why were novels popular in women society? Give any three reasons. 3x1=3

Explain any three characteristics of the silk routes. 3x1=3
OR

Who were Gumasthas? Write any two functions of The Gumasthas. 1+2=3
OR

Explain any three efforts made by women in London to increase their income during
eighteenth century. 3x1=3

What is meant by Horizontal distribution of power ? Explain giving examples from
India.

“Every social difference does not lead to social division.” Explain the statement 3

Distinguish between overlapping and cross cutting differences. 1/+1%=3

How caste is politicised ? Explain any three points. 3x1=3

What is the main criterion used by the World Bank in cassifying different countries ?
Write the limitations of this criterion. 1+2=3

Study the table given below and answer the following questions. 2+1=3

Country |Per Capita income In US $ 2004 |HDI Rank in the World
Sri Lanka 4390 93
India 3139 126
Pakistan 2225 134

(a) Name any one country whose Per Capita Income is more than that of India and
by how much ?
(b) What is the HDI Rank of India in the World ?
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Explain the three sectors of economic activities with the help of examples. 3x1=3

Distinguish between public and private sectors giving at least two examples from each
sector 1%4+1%4=3

Explain the three steps involved in the resource planning in India. 3x1=3

How have human activities affected the depletion of Flora and Fauna ? Explain any
three reasons. 3x1=3

What is meant by water scarcity ? Explain any two of its main causes. 1x2=3
Describe the geographical conditions required for production Rubber and Maize. = 2+2=4

Explain any four measures adopted by America for postwar recovery. 4x1=4
OR

“The modern industrialisation could not marginalise the traditional industries in

England” Justify the statement with any four suitable arguments. 4x1=4
OR

Why was the land reclamation in Bombay necessary? Mention any two land reclamation

projects taken up in Bombay. 2+2=4

Describe any four constitutional steps taken in 1992 towards decentralisation in India.

4x1=4

Explain any four main features of National Rural Employment Guarantee Act. (NREGA)4 .
x1=
Three features with serial No 1 to 3 are marked in the given political outline map of
India. Identify these features with the help of the following information and write
their correct names on the lines marked in the map. 3x1=3
(@) A type of soil.
(b) A type of forest classified by forest department of India.
() One food crop.
OR

Locate and label the following on the given outline map of India.
(a) Salal dam
(b)  Corbett Tiger Reserve
()  One major tea producing state of North east.
Note: Only for visually impaired students in lieu of Q. no 36,

(@) Write the name of one state where Alluvial soil is found.

(b) In which state Corbett Tiger Reserve is situated ?

(c)  Write the name of any one tea producing state.
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HIT -1

frefafea ¥ & gaifye Ama fowm awis are 9 & 987
(a) (b) OSE (c) TR YW (d) uf=H s

foredt g o1 foerra amT=a: T emem W fuifa fan st €2
(a) fd =afer ama (b)  Sid Feal
(c) STl <RI T&TE &I (d) SR H 9 Bl T |

frefafed # @ fore o & g0 9%a e e (ST.ELdt.) &1 e foran S § 2
(a) It T AR W (b) T @IT GEA FH
() % WHR & TH T gH d) SR H F HE T |

Hfafea § 9 frg T =t Iffaa SHEen &1 TR Hed 99l § 2
a) WRd (b) SITAH (c) W (d) AT

T 500 FTe Ted frefafad § @ fhd wad & R | gAR O @l S 8 2

(a) ST (b) e (© T (d) <9
sreraT

1854 3. § WA &1 Tecll HUel Mot Fal wenfyd i 78 ?

(a) HERT (b) a8 () |W (d) sTEHSER
3rrar

i 1 wad vEel YA XA & U8 GE I Sumed el gall ?

(a) 10 ST 1860 (b) 10 ST 1861

(c) 10 ST 1862 (d) 10 ST 1863

1928 | 1934 % o9, YRA W N 1 HIAd 50% q% I R T2

(a) T IURA % HR| (b) € % HRU|

(c) WM % HRI| (d) 9@ F FRO|
Jrorar
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~

frefafead 5 9 9RA & fohe w9/ W 67% (gfaerd) g8d 3T 1911 H feod 972
(a) S TIH T (b) HId TIH STEHAE
() Toceh waq sw% (d) TS TaH qGTH
AYar
frefafed 9§ 9 &4 91 ®ed ‘=i’ & fae aqfed g2
(a) a1 SgATSC SARG off |
(b) =i T Al $ARG of |
(c) i GAgiaen TrTe STRMIE $ARA of |
(d) SR T F HE T |

768 - 770 3. & AE-E frefafad § @ oF g9 | DR Hi qoheich AR SITIH ST 2
(a) G JIRE (b) ST TR
() I AR (d) SR H F HE T

areraT

o

Hfdfed § § ffd T § 3T 3 o™ U8 STe 5T 7

v
(a) TAUE TIH HiG (b)  THHAT Ty ST
(©)

e e ST T &9 (d) 9Ra TR W

A R BT T8 Yo g o1 W fafaw |

(a) T =Y g (b) msfaa

(c) THET (d) W qel
3T

T: @Uel | ‘T S AW 3T fohe geRtfira TR 2

(a) F=EEa (b) =TeH fehg

() T frfeeT (d) ST E H HE T

frafafea 8 @ fog 99 5 dicis Th @ad T2 & 9 § 391 ?
(a) 1947 (b) 1948 (c) 1949 (d) 1950

frefafea 9 & frm S w9z &1 Saen dfesa 3 et €2
(a) M (b) wIfES () HA (d) S H H HBRE TR
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frfafea # @ feg 39 o o5 WaR 82

() = (b) e (c) smefern
Wﬁw@ﬂfw%:

(a) Tf IR gEW & o= Sfaew =R

(b) TES gRT S 3R G 1 <t T THAE yfir |
(c) dTcTe AR SfAshIsti S AT H1 ST |

(d) fgensti & HaeH & AfywR 9 dfaa W@l

Y THR T & AR T srevEshal Ifd % ¢ Sgd $9 7, AfeRA Rt & o w "qfe %
fou 7" fr=fafea § 9 foem Swiga a1 a1 & 2

(a) Todman s

(b)  TETCHT e

(c) AR 5%

(d) erea forrt e

frefafaa @ =0 a1 s fiord afyemdt e # SiemEe @9 % HRo7 TR TaX | 72
(a) @rTE

b) &
) g

(
(c
(d) ide

Fa fortell Scaree ¥ Safagd 1 aree feas gfaed &2
52%
42%
32%
22%

1080715 - A2




HIT - 11
R H g GUR <o & 3¢ H e U foaml & JOR o g0 7 FY e 6 ?
JAYAT

Id H WA GURl & &3 § STAEeRl ot ikl fohedl T IS0 1 T8l § T
HITSTT |

AT o 1% fafrer 99 & fow =1 9uH i
YT

YR § ShRAl O 6l ST & 308 &1 &9 H SAREAT HiTwT |

e TR 201 =F | AT | 17 ATEAT HifeT |
rqar
Yigel TUS H YA AR 9T i & 2 HIE diF HRT Fd3U |

W A & foRl @ TRt st e Sif |
Jrerar

THYAT HIF & 7 THYARN & HIE < HwE faray | 1+2=3
srerar

3ToREd! vl | wied H, ARl gNI STq 3T ! 9eM =g [T T¢ fh=l oI gamdl &l =
IS | 3x1=3

T % &fast faawor 9 w2 fyya 8?7 9RA 9 SSe0T SR SHe] ST SIS | ’

“ R TSR fafierar ST fauTs &1 &9 6T ot | 59 U i SATEA] HiTT |

faf\eraretl o ars= o1 Thyg § ST T ST | 1%+1%=3

St ford YR TIfqud &1 St § 2 Tl <fie forgati st =amen #ifee | 3x1=3

faga i & gra fafis i & iRt o faT fo HIeuS] 1 79T T 8 7 39 HYSUE i
A et | 1+2=3
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= QU 7T <1E &1 3T Shifrg a9l FH=Afafad 9991 &l 3 S |

) o 3“:() s fova @ wrra fah™ orehich o1 FA
sfretent 4390 93
3139 126

LHETSIE 2225 134

(a) T} T W 1 AW FaET U yiasafad o uRd 9 stfus § SR Tt ?

(b) R 1 fova H wa fosh™ @i % fhaT g2

afefen fopametl & i1 &SRl ohi STl Wied AT HifST | 3x1=3

HrasifTer an f7sit &rsieh H 2= TI FKITST | Y &5 o HH-Y-HH I |0 3799 ST |
1%+1%=3

Od § G91eE a0 & i1 ST Rl ST hiTig | 3x1=3

e foRanstl = Siastqat qe aedtda o fammn s fhe YR geifaa fean g7 fohef o sroi
! SATEAT ST | 3x1=3

ST GAWd § 1 YT T 27 59k fohel &l & HRON i ATAT HifeT |

TS U HIhT o IcuTed o ToTu sTevdes wiifares gemsti &1 guid Hifag |

FHIT GHR 3 SRR gR1 FoT T foredl =) Sl 6 samen #if |
areram
‘gretue  aTyfTen STTENfiTeRtor, TERETA ST il qUia: SR W A gha w1 fR 9R
IUYT Tehi GRI 9 HA Hi e Hifeg | 4+1=4
areran
g H g fasm i emavgs a1? I § o] &t T8 e < ff faewra ufEeei @
SeeTd T | 2+2=4
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34. 9d H Tl & fasr=ienn o U 1992 § 31T U fH=l IR Hafer SHeHi o IuH hifed |
4+1=4

35. S YO ISR MRS Afufem (TH.eREST) &1 ffsl =9 7o favmaet &1 =men
FIfeT | 4+1=4

qRd & feu U qeHifaes Y@ qHfes | % e 1 9 3 9 fafvsl deon ) qwien T g
frefafad TR & STTUR 9 39 &I &I Y9 Sie aun gHfas § il e ® ST
& a9 fafan 3x1=3

(a) T TR FI 7
(b) WRA & = a9 gru =fihd o7 &1 T YR
(c) U @I wyd

Jrgrar
IRA o Tefae 1@ AHtes | 79 %1 gefifa ¥
(a) T WY
b) e 9 Reral
¢) TH I @ F I 99 SARH TA

e :  Had geE BEl & fT g9 &A1 36 % TIH W
(a) T TA 1 AW SAIRY BT STeArg a1 W1 S 2 |
(b) e e e forg T B feord €2
() U 9@ S T 1 T fafay |
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lNDIA Political And Adjacent Countries
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